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Tong hop dé thi va dap én, hiréng dan gidi ky thi TIMO, HKIMO, BBB khoi 1 cdc nam

PE SO 1:
PRELIMINARY ROUND / VONG LOAI QUOC GIA 2020 — 2021
Logical Thinking / Tw duy l6-gic
Q1. Given two balances below, find the heaviest type of fruit.
Cho hai chiéc cin thang bang duwdi day, tim loai qud ndng nhat.

.o&A J @ A@D.

A. Apple (Tao) B. Orange (Cam)
C. Mango (Xoai) D. None of them (Khéng c0)

Q2. In the family, Mina has 3 sisters in total. How many children does Mina’s
mother have?

Mina c6 tdt ca 3 ngwoi chi em gdi. Héi me ciia Mina c6 bao nhiéu nguoi con?
A. 2 B.3 C. 4 D.5

Q3. Mary looks at the calendar. Her birthday is 2 days after today and it is on
Friday. Which day of the week is today?

Mary nhin vao quyén lich. Con 2 ngay nita la dén sinh nhdt ciia ¢6 dy va né ding
vao ngay thir Sau. Hoi hom nay la thir may?

A. Wednesday (Thuwr Tuw) B. Thursday (Thir Nam)

C. Friday (Thu Sau) D. Tuesday (Thir Ba)
Q4. By observing the pattern, what is the number in the space (“...”) provided?

Quan st quy ludt, tim sé thich hop dé dién vao dau “...” phia didi.
0,5,10,15, ...

A. 20 B. 16 C. 19 D. 17
Q5. Ken is 15 years old and Ken’s sister is 5 years younger than him. How old is
Ken’s sister now?
Ken 15 fuéi va em gdi ciia Ken it hon anh dy 5 tuéi. Hoi hién nay em gdi ciia Ken
may tuoi?

A. 20 B. 10 C.5 D. 15

Arithmetic / $6 hoc

Q6. Findthe valueof 1 +9+6 + 4 + 2.
Timgiatricual +9+ 6 +4 + 2.

A 12 B. 20 C.21 D. 22
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Q7. Find the value of 16 — 7 — 6.
Tim gid tri cua 16 — 7 — 6.

A. 15 B.3 C.4 D. 2
Q8. What is the value of A such that the equation below is correct?
Gia tri cua A la bao nhiéu dé ta duoc phép tinh dudi ddy dung?

19-A=38

A. 12 B.9 C.10 D. 11
Q9. Calculate: 5+ 4 +5+4 + 5,
Tinh:5+4+5+4+5,

A. 22 B. 20 C.23 D. 32
Q10. Find the value of 11 + 22 + 33,
Tim gia tri cua 11 + 22 + 33.

A. 44 B. 55 C. 66 D. 77

Number Theory / Ly thuyét sé
Q11. According to the pattern below, which number should be filled in the blank?
Dua vao quy luat day so dwoi day dé tim so thich hop dién vao cho trong.
20,1,19,2,18,3,
A. 17 B. 4 C. 14 D.7

Q12. Find the smallest number with two identical digits.
Tim s6 nhé nhdt c6 hai chir sé giong nhau.

A. 10 B.11 C. 99 D. 98
Q13. Fill the lines with “+” and , “— to make the equation below correct. (The
symbols are written in order from left to right).
Dién ddau “+” va, “—" vdo ché tréng dé dwoc phép todn ding. Cdc dau dwoc
viét theo thir ty tir trai sang phai).
74 3=6
A+ + B. +, — C.— - D.— +

Q14. Donald has 15 crayons. Minnie gives Donald 3 crayons. How many
crayon(s) does Donald have now?

Donald co 15 cay but mau. Minnie cho Donald 3 cdy but mau. Hoi luc nay Donald
co may cay but mau?
A. 18 B. 12 C. 19 D. 1315
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Q15. What is the value of B such that the following equation is correct?
Gid tri ciia B la bao nhiéu dé dwoc phép tinh ding dwdi day?
15 + |[B[=11+8

A. 8 B.4 C.5 D.6

Geometry / Hinh hoc
Q16. How many squares are there in the following figure?
Hoi co bao nhiéu hinh vuong trong hinh duwoi day?

A5 B.6 C.7 D.8

Q17. How many cubes are there in the solid below?
C6 bao nhiéu khoi lip phirong trong hinh dwdi ddy?

A4 B.6 C.7 D.8

Q18. Refer to the pattern below. Find the suitable figure to fill in the blank.
Theo quy ludt dwéi ddy, tim hinh thich hop dé dién vao ché trong.

O/ B0 A
N B. /\ c. A p.O

Q19. How many circles are there in the figure below?
Co bao nhiéu hinh tron trong hinh dwoi day?

A 4 B.5 C.6 D. 1216
Q20. How many sides are there in the following figure?
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Hinh dvdi day co bao nhiéu canh?

]

A5 B.7 C.8 D.9

Combinatorics / Té hop

Q21. Separate the following stars into 2 equal groups. How many stars are there
in each group?
Chia cdc hinh ngéi sao dudi ddy thanh 2 phan bang nhau. Héi méi phdn c6 bao

nhiéu ngbi sao?
A. 6 B.5 C.4
Q22. How many even numbers are there from 13 to 30?
Hoéi c6 bao nhiéu sé chan tinh tir s6 13 dén sé 30?
A.9 B. 17 C. 16 D. 8

Q23. Adam has one $1 coin, one $2 coin and one $5 coin. At most how many toy
car(s) can he buy, given that each toy car costs $2?
Adgm co mot déng xu 1 do”, mot déng xu’Z do va mé{ déng xXu 5 dé. H0’i~cdu b,é co
thé mua dwoc nhiéu nhat bao nhiéu chiec xe o té do choi, biet rang moi chiéc xe
tri gia 2 do?

A. 2 B.3 C.4 D.5
Q24. How many 2-digit numbers can be formed by using digits 0, 1, 4 and 8?
(Each digit can be repeated).
Tir cdc chit s6 0, 1, 4 va 8, héi ldp dwgc bao nhiéu s6 c6 hai chit s6? Cdc chit 0
co thé lap lai).

A.9 B. 16 C.11 D. 12

Q25. From the pattern below, find the most suitable figure for Figure 4.
Duea vao quy ludt dwdi ddy, tim ddp dan thich hop nhdt cho hinh sé 4.

DO Q

Figure 1 Figure 2 Figure 3 Figure 4

A.@ B.@ C.@ D.®

D.3

10
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PAP AN DE SO 1:
PRELIMINARY ROUND / VONG LOAI QUOC GIA 2020 — 2021
Logical Thinking / Tw duy l6-gic
Q1.
Solution:
Apple = Orange + Orange
Mango = Apple + Orange
Key: C
Q2.
Solution: Mina + 3 sisters = 4 children
Key: C
Q3.

Solution:
Monday Tuesday Wednesday Thursday Friday Saturday Sunday

today 1 2

Key: A
Q4.
Solution:
0+5=5
5+5=10
10+5=15
15+5=20
Key: A
Q5.
Solution: 15-5=10
Key: B
Arithmetic / $6 hoc
Q6.
Solution: 1+9+6+4+2=(1+9)+(6+4)+2=10+10+2=22
Key: D
Q7.
Solution: 16 -7-6=(16-6)-7=10-7=3
Key: B
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Q8.
Solution:
19-A=8
A=11
Key: D
Q9.
Solution:
5+4+5+4+5=(5+5+5)+(4+4)
=5x3+4x2=15+8=23
Key: C
Q10.
Solution: 11 +22+33=11+2x11+3x11=11x(1+2+3)=11x6=66
Key: C
Number Theory / Ly thuyét sé
Q11
Solution:
20,19, 18
20-1=19
19-1=18
18-1=17
Key: A
Q12.
Solution: 11
Key: B
Q13.
Solution:
7+4+3=14
13-6=38
8=2x4
7-4+3=6
Key: D
Q14.
Solution: 15+ 3 =18
Key: A
Q15.
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Solution:
15+B=11+8
15+B =19
B=4
Key: B

Geometry / Hinh hoc
Q16.
Solution: 6 squares
Key: B
Q17.
Solution: 7 cubes
Key: C
Q18.

Solution: . A

The pattern:

Key: A

Q109.

Solution: 5 circles
Key: B

Q20.

Solution: 7 sides
Key: B

Combinatorics / Té hop

Q21.

Solution: 8:2=4

Key: C

Q22.

Solution: 14, 16, 18, 20, 22, 24, 26, 28, 30
Key: A

Q23.

Solution: 1+2+5=8

8:2=4

Key: C
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Q24.

Solution: 10, 11, 14, 18, 40, 41, 44, 48, 80, 81, 84, 88

Key: D

Q25.

Solution:

Figure 4
Key: C
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